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WS 1.3: Simplifying & Evaluating

Period

Worksheet 1.3—Simplifying & Evaluating

Show all work. Give simplified, exact values for all answers. No Calculator

I. Multiple Choice

C/ 1. Evaluate 163/ 4

1 1

(A) Y (B) 3
34 3
b, )2
QL;VLI %

W)

E \ 2. Simplify the radical 3/40
w235 ®&s

SEE)
38 S
SERVES

235

©)8

(C) 15

C/ 3. Simplify completely: 36(2@ - 2\/3)

(A) 642-30  (B)3042-6

BJS—@W

(D) 32 (E) 64

(D) 20 (E) 1635

(©)3042-30 (D) 10

%)

650 — 65
(Nz256-Z -30

360z —30

B 4. Simplify: 232453375
(A) -19y3  (B) 2115
23[9 > —52[z25
2-2233 —5-583
L{gg_iezj'z‘
-213(3

(©) 21315
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(D) —33/351

(E) 30

(E) 22133
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A 5. Which of the following is equivalent to i/g ?

3 3
W% @% @% (D) 23/4 ®£

o v
Ef:i/ 3z ,Z-/a (?j_ °
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N I A
2= —Z:j/ 24
z-
B 6. If f(x)==,evaluate f ( -3 ) Rationalize your answer.
(mzﬁﬂ B) -1-v3  (©2-V3 O3-1 ()23
z
I@@=
) /_, I+ r_)
= Z_+Z/L
l -
=z 4203
==

= -1-{3 x
cC 7. Simplify the complex fraction: Z

x+6
(x+6) x(x+6) x+6 4x
A B) 20x(x+6 C D) — E
() ®) z_c)/f\(x ) © 20 ®) 20x ( )5(x+6)
< \gmé
(x%) 5 (x+0)
X(x-l—f-:)_
$-5
x(><+0
T zo0
9
G x+—
8. Simplify the complex fraction: X
X+
9
2 2
(A) x* +9 (B)l ©) 9x* +81 (D) 9x2+81 (E) x°+9
x° Ox“ +x x+9
g LCIV\ o
5:31( Ty + 38\
X G |ox*
9';4 4’8\
.——/,L_—
9\414')4
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WS 1.3: Simplifying & Evaluating

-1 <. -2
E 9. Simplify the complex fraction: %
5x° —8x~
5+8x? 8x—5 8x—5 8x% —5x 8x% —5x
a2 @2 (© D) =X () =2
5—8x 5—8x 5—8x 5+8x 5—8x
- -z
8)( — 5y
et
-3 -1
5y &
8 _=_
(x x> x’}
s -2\
x> X %
ol
5 — B8x*
X 3
E 1o Simplify the complex fraction: %
x+5 x—1
) x*+8x-3 B x*+2x+15 © x*+2x+15 D) x*+2x+15 () x?+8x-3
x> +10x-5 x> +10x-=5 —x*-5 —x*-5 -x*-5

!
& x
X+5

X()(-\—G) +3(x-)
T - (%D

X +By =%
—
~X"-5

CrSeane®
Ly -5-x+*—54%

f(x+p)-f(x-p)

B 110 £ (x)=52% - 2x+3, what is the simplified expresssion for = for some
constant p #0?
(A) 20x-4  (B)10x—-2  (C) 40x-8 (D) 5x-2 () %x_l
F(xrp) - Fx-p) o
“f L OX | — P
[S(x+P) =2(x+P) 23\ (Bt -26F) -2 ST
f § 20up 4P
5y + YDHD 4—919" —2x —7-10 +3 — 5y +/D><F-5P1+zy—z,f -5 zp 2f
| 1Dy —2-
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II. Short Answer

12. Evaluate each of the following.

WS 1.3: Simplifying & Evaluating

2 ! > 2
(a) 8 (b) 8 3 (c) -8 @ (-8)5 _
(E’Ffp Eis c)g” (38
2 4 (&)
! t -1 Lf

13. Simplify the following, if possible. Put your answer in radical form.

(a) /8 (b) V75 (c) 24 +381

"z Z5-> 253 +=z3
2= 23 225z + 33
533

(d) #16x°y"
\[_ 3/‘-] '5/‘1
7 \/T’—’T

Zx’LJ

() (x2 +4)”2

14. Rationalize and simplify each of the following by clearing the radical(s) from either the numerator or
denominator. Leave your final answer in radical form when necessary.

3 32 2
() —= (b) — C) —F+—
J5 4 NEENE
2z -5
- 2.2 UK -F5)
3
23z
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2—4 4
d -
RN ©-

‘/-4 ’/‘I
ﬁ'f;"@(t"'z} (ﬂ; /_<33/4

ﬁ+/2_— -2 >z +Z
() () (@ +2) 5(

T aez-4 1z
(e DL+ +2) SYzH
(£-2)

(Lri)(E+z +2)

v g Chond)
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15. If f(x)=2—- x? evaluate the following. Simplify if possible.
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f(x+p)=f(x)

) 7)) b f@x=) o (fof)(x) IAVAVAQ)) ) p
f—(—lﬁ 'F(Zx—ﬁ . @'960 £ (,C z—(,)"’D ~ @) A
EP[—Iﬂ’L 72— é‘-)L—-D ‘F(‘F(x)2> ‘F (-F((z __'\)\> M
el % %;ZijP 10(1_7:‘ FEO) 2 - Pamp-f ~2 4%
-1t 5t 2- (2 %) O e S B
5 Wbl o) f
l 2o+ H2x QC[\L —axpf
~x' -2 - ( P 5
Pl-1%-
ID
-2x-f

16. Simplify each of the following rational expressions to a single term. State any prohibited x-values in

your final answer.
2x* -8
(@ ——
x* —4x+4

2 (")
(x-2)*
26

(x-D(X-2)

4

x—4 x*-3x—4

2
x“—=5x-6
(b) ———— () +
6x—x° ¥ -4 x*+5x+6
(%'b) [)(-H\ /Y.' "i) . (¢ +)(x+2)
X (6—x) &-D6+D)(x4)(x+)
o) ) FZC I
[,—x(’(‘r‘ (A (X_z\(\‘*l) /X%ZI l/ ZILf
X—-;( /X#D,b

© (l+x2 )1/2 —x? (1+x2 )_1/2
l+x21
\]/1. - X
<’*T W> e
( /+x"-> ()"
J s — X
//_I_X‘L)"/z

\

=0
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